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Important Instructions :

1.

This paper consists of 40 Multiple
Choice Questions (M.C.Q.). All
questions are compulsory and carry
1 mark each. There is not negative
marking.

Each question has four alternative
responses marked (A), (B), (C) and
(D). You have to choose an
appropriate answer option and
mark it on the OMR sheet.

For marking answers on OMR
sheet, follow the detailed instructions
given on the OMR Sheet.

Use only Blue or Black ball point
pen for marking on OMR.
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Random Access Memory and Read

Only Memory are examples of :
(A) Primary Memory

(B) Secondary Memory

(C) Auxiliary Memory

(D) Both primary and secondary

memory

IBM notebooks, Pentium PCs-

Pentium 1/2/3/4/Dual core/Quad
core, PARAM 10000 are examples

of which generation of computers ?
(A) | Generation

(B) IV Generation

(C) NI Generation

(D) V Generation
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.............. is used to connect the
monitor to the computer which

offers images at higher resolutions.
(A) USB Port

(B) Video Graphics Array

(C) Parallel Port

(D) None of the above
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How is a computer different from

other electronic devices ?

(A) It requires a constant internet

connection

(B) It operates without any human

input
(C) It processes data and
produces outputs based on

instructions

(D) Itis smaller in size compared

to other devices

Which of  the following

technologies defined the third

generation of computers ?
(A) Artificial intelligence
(B) Integrated circuits
(C) Microprocessors

(D) Quantum computing
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Which of the following is NOT a

purpose of a computer network ?
(A) Sharing resources

(B) Communication

(C) Data storage

(D) Hardware destruction
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What is the term for a device that

connects to a network ?
(A) Client
(B) Node
(C) Server

(D) Router

In which topology is each device
connected to exactly two others,

forming a circular structure ?
(A) Star
(B) Bus
(©) Ring

(D) Tree
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What is the main disadvantage of

a bus topology ?

(A) Difficult to troubleshoot
(B) High cost

(C) Requires many cables

(D) Dependency on a central hub
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10.

Which device operates at the Data

Link layer of the OSI model ?

(A) Switch

(B) Router

(C) Gateway

(D) Modem

11.

What is the primary function of a
hub ?
(A) Amplify signals
(B) Connect devices in a network
(C) Filter traffic

Route data

(D)

12.
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At which OSI layer does a router

operate ?

(A) Transport
(B) Network
(C) Data Link

(D) Physical
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12.

Which layer of the OSI model is
responsible for delivering data

packets between devices ?
(A) Transport

(B) Data Link

(C) Network

(D) Physical

14.

What is the main function of

hyperlinks on the WWW ?
(A) To connect web pages
(B) To store data locally
(C) To edit web pages

(D) To display images

15.
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What is the difference between the

Internet and the WWW ?

(A) They are the same

(B) The Internet is hardware, and
the WWW is software

(C) The Internet is  the

infrastructure, and the WWW

IS a service running on it

(D) The WWW is offline, and the

Internet is online
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16.

Which application of the Internet
allows for video communication in

real time ?
(A) FTP

(B) Email
(C) HTTP

(D) Video conferencing

17.

Which of the following is NOT a

web browser ?

(A) Google Chrome
(B) Mozilla Firefox
(C) Safari

(D) Microsoft Word

18.

What does a web browser do ?
(A) It stores websites permanently

(B) It retrieves and displays web
pages
(C) It provides network security

(D) It blocks ads

19.
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Which of the following is a search
engine ?

(A) Bing

(B) Chrome

(C) Android

(D) Microsoft Excel
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20.

Which of the following is NOT an
example of system software ?

(A) Linux

(B) Android

(C) PowerPoint

(D) macOS

21.

Which of the following is NOT an
example of integrated software ?

(A) Google Workspace
(B) Microsoft Office Suite
(C) Adobe Creative Cloud
(D) VLC Media Player

22,

What does the term “gigabyte” (GB)
represent ?

(A) 1,024 megabytes
(B) 1,000 bytes

(C) 1,024 kilobytes
(D) 1,000 megabytes

23.
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Which of the following is a
characteristic of cache memory ?

(A) It is slower than RAM

(B) It is faster than RAM but
smaller in size

(C) It stores data permanently

(D) It is located on secondary
storage devices
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24,

Which component is responsible for
cooling the processor ?

(A) Heat Sink and Fan
(B) PSU
(C) RAM
(D) SSD

25.

What is the primary purpose of the
chipset on a motherboard ?

(A) Cool the System
(B) Store data permanently
(C) Supply power to the CPU

(D) Manage data flow between
the CPU and  other
components

26.

Which component is directly

attached to the motherboard ?
(A) Monitor

(B) RAM

(C) Printer

(D) External Hard Drive

27.
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What does BIOS stand for ?
(A) Basic Input Output System

(B) Binary
System

Internet Operating
(C) Bus Interconnection Output
Setup

(D) Built-in Operating System
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28.

Which type of memory is used to

boost the performance of

frequently accessed data ?
(A) Cache memory

(B) ROM

(C) Virtual memory

(D) SSD

29.

Which of the following is a

representation of 1 KB in bytes ?
(A) 1,024 bytes
(B) 1,048 bytes
(C) 1,073 bytes
(D) 1,000 bytes

30.

Which is NOT a type of firewall ?
(A) Hardware Firewall
(B) Software Firewall
(C) Network Firewall

(D) BIOS Firewall

31.

A-1306

Which of these is NOT an internet

based application ?
(A) Dropbox
(B) Google Maps
(C) Calculator

(D) Spotify
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32.

What are the main components of a

computer system ?

(A) Hardware, software, and the

user
(B) CPU, printer, and cables
(C) Keyboard,

monitor only

mouse, and

(D) Operating system and power
supply

33.

There are two primary types of

software namely ......... and ......... .

(A) System Software and
Operating system

(B) Operating System and utility
software

(C) Application Software and

System Software

(D) None of the above

34.

A-1306

What is the World Wide Web
(WWW) ?

(A) A programming language

(B) A collection of websites

accessible on the Internet
(C) A hardware device

(D) A search engine
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35.

What is the primary role of a web

server ?
(A) To display web pages

(B) To store and deliver web

content
(C) To block unauthorized access

(D) To process video files

36.

Which of the following is an

example of application software ?
(A) Microsoft Excel

(B) BIOS

(C) UNIX

(D) Command Prompt

37.
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What is integrated software ?

(A) A suite of programs bundled

together for related tasks

(B) Software for hardware

integration

(C) Software for operating system

installation

(D) A standalone application
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38.

Which of the following is the

smallest unit of data ?
(A) Byte

(B) Kilobyte

(C) Megabyte

(D) Bit

39.

What is secondary memory ?
(A) Temporary storage

(B) Non-volatile storage for long-

term data retention

(C) High-speed memory near the

CPU

(D) Memory that loses data after

power-off

40.
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What is the main circuit board of

a computer called ?
(A) PSU

(B) Hard Drive
(C) Motherboard

(D) Processor
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